END OF THE RAINBOW

PA-5150 ON SALE NOW

LOTTERY
WHEN ANY OF YOUR NUMBER S MATCH ANY WINNING NUMBER, \\g

WIN PRIZE SHOWN UNDER THE MATCHING NUMBER. B

END OF CHANCES ARE CONSOLIDATED
WIN WITH: CLOUD BONUS:  RAINBOW: WIN: TIN: CHANCES ARE 1 IN:
s 5 19.3
% $ 193 §5=9.62
$5x2 S0 6667
% % S0 1933
S10 S10 10000
510 S0 6667 §10=1087
%5x3 SIS 125,00
510485 sI5s
% % $ SI5 10000
510 % SIS 100.00
I SI5 12500
515 SIS 12500 §15=18.87
$5x5 §25 50000
§15+510 55 33333
510 §10 $ §25  200.00
515 §10 §25 20000
525 55 33333
525 §25  500.00 §25=50.00
§10x5 S50 24,000
§15x2 S50 24,000
(S10x4)+($5x2) $50 24,000
(S15x2)+(510x2) S50 6,000
525 515 $10 50 1,00
525 §25 S50 1,09
525 525 S50 1,200
$50 50 1333
$50 $50 2400 $50=242.42
§25x4 $100 24,000
$50x2 $100 24,000
(510 x 5) + (95 x 5) + $25 $100 24,000
(15 x4) + (510 x 4) §100 12,000
($25x2)+(S15x2)+(S10x2) $100 12,000
§50.+ 525+ 515+ 510 §100 12,000
$50 §25 §25 §100 12,000
$50 $50 $100 12,000
§100 $100 12,000
$100 §100 8000  $100=1333
$50x5 $250 12,000
(S50 2) + (525 x 5) + 515 + 510 $250 24,000
(S25x4)+(S15x4)+(S10xD +(55x2)  $50 510 $250 12,000
550 x4 525 525 $250 24,000
§100x2 §25 525 §250 12,000
§100 $100 $50 §250 24,000
§250 $250 12,000
5250 S50 24000 $250=2,000
§250x2 $500 120,000
($25x4)+(S15x2) + (510 x 2) +$250 + S50~ $25 525 $500 12,000
(550 x 4) + (525 x 4) + (S15x 2) + ($10x2)  $100 $50 $500 24,000
5250 §250 $500 24,000
$500 $500 24,000
$500 $500 120000 $500=4,444
$500x 2 $1,000 120,000
$1,000 §1,000 120,000  $1,000=60,000
§25,000 $25,000 120,000 $25,000 = 120,000
WHEN THREE “&" SYMBOLS APPEAR IN THE YOUR NUMBERS AREA  OVERALL CHANCES
BELOW, WIN PRIZE SHOWN AT THEEND OF THE RAINBOW. OF WINNING: 1 in 3.64
END OF THE RAINBOW IS PLAYED SEPARATELY., P A o rizcs, o sibiec to

CLOUD BONUS: WHEN YOU MATCH ANY WINNING NUMBER BELOW
AND A PRIZE AMOUNT APPEARS IN THE CLOUD BONUS AREA, ADD THE
PRIZE SHOWN TO THE TOTAL WON AND WIN THAT AMOUNT.

CLOUD BONUS CANNOT BE WON ALONE.




